




Item:

Location:

Order:

Building Project:

020280501
K&K Barge

List of screw connections

1290769

Page 1 / 2

Platform fastening to stainless steel post,10 x SFES1200001
nut on the side of the platform

per SC Total K&K-Item Marking

Lock nut M12 DIN985 A21 x 10 x 3430021
.

Cheese head screw with pin M12 x 1251 x 10 x 2030651
.

Standard bolting of attachment parts14 x SFES1210001
(except platforms) to stainless steel posts

per SC Total K&K-Item Marking

Cheese head screw with pin M12x1401 x 14 x 2030168
.

Ridge roof 0,80 m x 0,80  m1 x SFAS1240002
HPL panel fastening on double clips (bottom-sided)

per SC Total K&K-Item Marking

white protective screw cap - lower part, M104 x 4 x 3300056
.

Mushroom head screw  M10 x 35 DIN603 A24 x 4 x 3400024
.

Washer Ø 10,5 DIN 125 B A24 x 4 x 3430014
.

white protective screw cap - lower part, M104 x 4 x 3300057
.

Lock nut M10 DIN 985 A24 x 4 x 3430048
.

double clip for tent roofs (angled at 90°)2 x 2 x 6240003
.

Reinforcing steel for stainless steel posts6 x SFES1270001

per SC Total K&K-Item Marking

Reinforcing steel Ø 10 x 310 DIN 4882 x 12 x 2130000
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

020280501
K&K Barge

List of screw connections

1290769

Page 2 / 2

Hexagon insert socket driver 10mm 1/2"1 x SFWZ0000009
with borehole for Pin

per SC Total K&K-Item Marking

with drill hole for Pin
Hexagon insert socket driver 10 mm 1/2"1 x 1 x 2030170

.

Lubricating metal, bag (4g)2 x SFWZ0000014

per SC Total K&K-Item Marking

Metaflux fitting lubricant 2x4 g1 x 2 x 5300024
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24


